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There are 30 questions in all.
All the questions are compulsory.

Questions number 1 to 8 are multiple choice questions carrying 1 mark

each.

Questions number 9 to 14 are short answer questions carrying 2 marks

each. Answer to each of these should not exceed 50 words.

Questions number 15 to 20 are short answer questions carrying 4 marks

each. Answer to each of these should not exceed 100 words.

Questions number 21 to 24 are long answer questions carrying 5 marks

each. Answer to each of these should not exceed 150 words.

Questions number 25 to 30 are long answer questions carrying 6 marks

each. Answer to each of these should not exceed 200 words.
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In the year 1950, the Constitution of India envisaged a Supreme Court
with one Chief Justice and judges.

(a)  eight

(b) seven
(c) twelve

(d) twenty-four

aTTgfae 9 e fir O+ T 50,000 § AU A1Eh A= FAaAfeh IH TZH HI

IR g T 75,000 2 |

ST ST

(%) Sercta TE B i AGfoh SR Yo § HH YA W AT STgh TR
S FehdT |

(@) Yed- B ifeh god o1 qafed T &, aredfaeh g1 A9 8 |

(M) vEdHE T8 2 wEifh qed RHEA 2 |

(F) JaaHIT g Fifeh Hod T 3R ThdTTd & STaieh STgeh UheH =3 ol & |

Aadwik sells his bike for a consideration of ¥ 50,000 to his friend
Sandeep, whereas the market price of the said bike is ¥ 75,000.

The above agreement is

(a) not enforceable as Aadwik cannot sell his bike below the market
price.

(b)  enforceable as the consideration need not be adequate, but should
be real.

(e) not enforceable as it is an unlawful consideration.

(d)  enforceable as the consideration is adequate and reasonable as the
bike is not brand new.

3 P.T.O.
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Ritu gives a diamond ring to her friend Rashmi. Rashmi accepts the ring
but does not pay anything in return for the ring.

The relationship between Ritu and Rashmi is of
(a)  Lessor and Lessee

(b)  Buyer and Seller

(c) Donor and Donee

(d) Lessor and Sub-lessee

w1 faga waa 2 T ‘@ e s & gu o s

hIaTs ARG 3 qehaTd giH1 =g |”
(%) wIafes Afcepar

(@) i =

(M) wEEARd

(u) faferema smen

The Doctrine of states that “Even in doing something legal, an
administrative action must be fair and reasonable.”

(a)  Constitutional Morality
(b)  Natural Justice
(c) Proportionality

(d) Legitimate Expectation
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Rawls’ first principle of justice states that

(a) each person should have an equal right to the system of equal
basic liberties.

(b)  the provision of legal aid should help those who are socially and
economically backward.

(c) if the creditor took his poor debtor’s cloak in pledge, he must
return it by nightfall.

(d) everyone has the right to be born as free, to work off his debt and
no incest.

IR wfggH & fem wm 9 ogeee d TSy Aifd & fdue fagm
(S fwadl.) F13gE 7 ? 1

%) WF IV, 3¢ 51
@) WM I 388 51

T) 9T IV, 3G 36 § 51
|) WA IIL, =g 129 35

Directive Principles of State Policy (DPSP) are provided under which
Part and Article of the Indian Constitution ?

(a) PartIV A, Article 51 A
(b)  Part III, Article 51 A

(c) Part IV, Article 36 to 51
(d) Part III, Article 12 to 35

(
(
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The Chairman of the Supreme Court Legal Service Committee (SCLSC)

is

(a) A Judge of the Supreme Court

(b)  The Governor of the concerned State

(c) The Attorney General

(d)  The Chief Justice of the High Court of the concerned State
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(%) Torell SAfeehR o1 Ig=F &1 g3 Fifeh TSival hiHehd dad 9 Tl
HITH 1 3 Sa/AerEd T o |

(@) =98 24 % FAd qA SAUFR I 3G g7 Hifh 14 I8 § HH 1A
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In the city of Bheempur, all factories and mills were asked to submit the
complete data about their employees (both wage-earners and salaried).
Rajeshwar Chemical Works submitted the following data :

Number Age Group Gender
of People Male | Female
4 12 years to 14 years 3 1
6 15 years to 18 years 4 2
5 20 years to 30 years 3 2
5 31 years to 40 years 3 2
* Salaries were paid according to the Government provisions.

o The workers in the age group of 12 years to 14 years and 15 years
to 18 years were compulsorily sent to a school run by Rajeshwar
Chemical Works, after the working hours of the factory were over.

Rajeshwar Chemical Works was served a notice for violation of

Fundamental Rights.

Choose the correct option that describes the situation of Rajeshwar

Chemical Works :

(a) No right has been violated as Rajeshwar Chemical Works was
paying proper salary/wages to all its workers.

(b)  Fundamental Right under Article 24 has been violated as children
under the age of 14 are working there.

(c) Fundamental Right under Article 14 has been violated as equal
number of males and females have not been employed.

(d) Fundamental Right under Article 19 has been violated as the
workers in the age group of 12 years to 18 years were compulsorily
sent to school every evening.

7 P.T.O.
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T& A o T TR+ <@ foh YEIT T G HISETEhe HaR deh A6 TS
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LY 2 3 I o foTw swrr i |
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Puru, a passer-by, saw two masked motorbikers looting the ATM of the
Bank of Aluba. The bikers also injured the guard deputed at the ATM.
Puru had noted the registration number of the motorbike. He not only
called the ambulance but also informed the police about the commission
of the offence by recording an FIR (First Information Report) in the

nearest police station.
In the above given situation :

(a) Is the officer-in-charge bound to investigate the facts and

circumstances of the case ? Give reason to your answer.

(b)  What happens if the police refuse to investigate an offence ?

AR G & 39 9”97 61 3g@ hifay {90 gHarieesii & Iy
TUEY B |

State the four parts of the Indian Constitution which contain the Human
Rights framework.

TS wigan I it fopedl =R il o1 3g@ shifere s fafad =mmes
IO 8 |
Write any four powers of the National Commission for Women, which are

similar to that of a civil court.
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Sied ged fea®’ & AW § IW W A g ESAl i e fafyE g 6
ST I HERAT o o TTQ Tomam T |
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Dubbed as the ‘Bretton Woods Twins’ these two organisations were
formed to aid the economies of various countries.

(a)  Identify the two organisations mentioned above.

(b) State their main functions.

faferer Tan rferesr rfafem & of@iia nfea dia rfaer & T= T +1 3gd@
i |

State the composition of the Central Authority constituted under Legal
Services Authorities Act.

Y o AU 1 F1 A 7 2 W R IRY T A 2
What is meant by Ratification of Treaty ? Why is it initiated ?

@ Sl ATl W AW WM W el o e o s gl (FR)
MY HIATIH JTTe! o Tk § h8 HH 8 ?
How has the series of three judicial decisions popularly known as the

‘three judges case’ helped in the development of the modern collegium
system ?

Tame e Aeerdr Y UfshITsT H TR Tee hifoT | dehfcush faere gatae
% 3 QI ®UI o gRT NG Tohegl Q1 Hedl Wl 3@ T |

Differentiate between Arbitration and Mediation processes. State any
two values communicated by these two forms of Alternative Dispute

Resolution.

TS HHETIUR TR o fohral 31T YehTall bl ! 99T |

List any eight functions of the National Human Rights Commission.

9 P.T.O.
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stferaerd sTffEm, 1961 % 4o Srau™i i fefdfad fogst & ded 4 e

%) IARge Wi fofes aftag 1 ged
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Explain the main provisions of The Advocates Act, 1961 in reference to
the following points :

(a)  Composition of the All India Bar Council

(b)  Any two functions of the Bar Council of India

(c) Composition of the State Bar Council

(d)  Any two functions of the State Bar Council

(%) SemEfes fafer g 2
(@) wematyes fafe & fordl g 2ot =1 3g@ Hifve |

(a) What is Administrative Law ?

(b)  Give any two aims of administrative law.

“IFAH AT h hIEHE TR T it TST (1973) o el o Ufqgriah
fom o giogm % 249 wegA SifufEm o1 TH IW oam W wfouw %
I 13 TAT TT=0E 360 I HI TWIfard hial & |7 T HIfT |

“The decision in the landmark 1973 Supreme Court case of Kesavananda
4th

Bharati V. State of Kerala was an answer to the 2 Amendment Act to

the Constitution affecting Article 13 and Article 368.” Explain.

10
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yfeeeh &9 T ‘SNragaa %1 AWE 8 — Uiy | wra % el #, F=faRaa
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(%) 9Rd H IR 9N & TSA H ‘geemr-fod siragems $i 9gem
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(@) 9rd# ‘gwerem-fatedt STragaya’ i e fafeae |
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Literal meaning of ‘Ombudsman’ is representative. With respect to India,

answer the following questions :

(a)  Identify the Anticorruption Ombudsman in the Indian States and
in India.

(b)  State the composition of Anticorruption Ombudsman in India.

(c) Identify the Banking and Insurance Ombudsman in India and
state its role.

(%) WRA o AFTNGRI Sl AR FO9H & Igo0g 19 % @ qqed g
AT T 3ZE HINTT |

(@) fm=fafga @ @ S9-a1 dhaTa Ifaey & dhar 8 2 39 W & e
o ot G |

() D Ml < fRHl TR gRI oy - o SR fopell geas H
forsht w wfasier |

(i) g ol fd i o Y IHE™ I GWET 9T W G WS | 5

(a) State the six freedoms which are available to the citizens of India,
under Article 19 of the Indian Constitution.

(b)  Which of the following can be a reasonable restriction ? Give
reason for your answer.

(i)  Restrictions on the sale of a book because of protests by a
group of people.
(i1) Prohibition on making inciting speeches that may provoke

others to commit violence.

11 P.T.O.
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“fafersr wgral oTgiem & faem o wiie Seifrafer <t il st um:

3TETH JishaT T ST i el oL ¥ §Y &=id S o &9 H o@l 9l & |7

9 A o ged 1, fafeiaa wwai % 3w G

(%) IS FOATET T FAT A 8 ?

(@) fges fofos ggmar & g faemsiar =@ fea yer g
ST st 3T ITUTR agd! T8 2

(M  fes fofas dgm@a & YEgF § §Nd 8H et gl & Jedl @i
3@ HT |

“The growth of legal aid movement is seen as one of the late conscious

attempts in social adjustment that followed the slow and often
unconscious process of Social Engineering.”

In reference to the above statement, answer the following questions :
(a)  What is meant by Social Engineering ?

(b) How did the developing civilizations progressively move towards
Social Engineering through free legal aid ?

(c) State any two values communicated by the provision of free legal
aid.

(i) Frzes fohen fafees caaom qen fafes forem & @ #, ffafeaa
4 % T grag™l sl GHTET

(%) HifARIe
(@) dfwR

(i) greee fohren ® @y =afea off A ehicl (SRR) &9 Wbl & S I
fowg & =ras (I9ue) 9 7 2

1) In terms of legal profession and legal education in the United
Kingdom, explain the provisions to become the following :
(a) A Solicitor
(b) A Barrister

(i) How can a non-law graduate become a lawyer in the United
Kingdom ?

12
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3 @ TRl h RS HINT 8 TR o IR H AT a0 6
ST faenféa g3 TR N8 YRA o I=aH =I-Ted o giRI Ht 319 ST 8 2

Explain the three ways in which the scope of judicial review has evolved
in the courts in India and has been practised by the Supreme Court of
India ?

Tt & g fe%a wiar, gl § te a8 o1 | 35 god T 85 A Afh
T AT | 39 39 HURT 1 W a3 FHR i aftfaa €9 1 7aia
fen | 3R aeM #1 gAEgR fRam R = 15,000 Ufd T W 3 a¥ & fau
ot HAT P T W FHeal ¢ ¢ | LU AR FHR H 39 HU %k T
Ayt % IR A Tk foarg Ugr & M | 9rg i fommeiaar % SR gdw |
st faftr o0t forn foreft qoar o wuf =1 siafa = feam | vt 3 3@ srawr =t

T &

() U, géw, g, o oo R #iwdt Mfa H gT i YRR o ST
1 Tge hifsy |

(i) HHR T fRT MY W ST=aur i g € ? U AT Wl A
g & fore @it < gro fopa ferfort vt g <veam gem 2

Ramish had a residential accommodation at Defence Colony in Delhi. It
was valued at ¥ 85 lakhs. He transferred the ownership and possession
of this property to Sudeep and Sameer jointly. They got the house
renovated and gave its possession to Mr. Kailash for a period of 3 years
on a monthly charge of ¥ 15,000. A dispute arose between Sudeep and
Sameer and the ownership rights of the property became disputed.
During the pendency of the suit, Sudeep initiated the transfer of property
to Ms. Nidhi without any consideration. Sameer challenged this transfer.

1) Identify the three types of transfers that took place between
Ramish, Sudeep, Sameer, Mr. Kailash and Ms. Nidhi.

(i1)) On what grounds has Sameer challenged the transfer ? What
conditions should be satisfied by Sameer in order to justify his

objection ?

13 P.T.O.
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T @ 13 feufa # forg defcdss faarg wmmam (stieetie ferae fioasm) =1
ST HET BT ? Gg=H I, SR AT HITT

()

FrEe H foud Ut Sibed haell & yaus e geq aor saeh! st
qfufa § e oW faare e 8 W | faee & uan 3 fuem & faw sft
ff¥rrra 3 (3= < W JTEeh T =mnefien) i fsue g ae
(a2 urdl) = &9 ° Fgaa fopam | oft ffrepra o 9 36 foarg ik @
& fgem & fow uai 1 Gwifed &9 g9d §U gEaadt (SeEmie) i
sftreRt g |

off TTfeet FUR 3R vt STI5eht AR # Th AdTiesh TSI 9T &1 7T |
JgfU IThT AHAT Tsh HAd =™ ¥ 98d ¥ & 9d @1 o1, 38
A WS ol Fue & fu ws gEem ¥ wues TR | 39 oHEm 4
SishaTcHeh TRl 1 QU1 9T @ id IR 39 HEAT 1 U e 6
T UeTl I STeehi o |

St st SR off AR uSEt § 3R YATEeE g oURhHE H ® W
g | 3T TR & ARHR % IR H TH FIST A1 & T A g A o |
TS 1 STIAN o <l T Gl 8 | I8 A9 Wehid ¥ 2 3=R
(TrEtsdt & afed) & A e & fuem & foe fsug dad o &
w9 ° Tgea foram | oft ST w1 3ok AT 1 Yoo Sgd i H
T Bl T AR 3¢ Th R 6l IR FERm fora |

Identify and explain which Alternative Dispute Resolution is followed in

the given situation :

(a)

A labour dispute arose between Mr. Shikhar Dhawan (Manager) of
a chemical factory located in Jharkhand, and its Workmen
Association. The parties to the dispute appointed
Mr. Nishikant Jha (a retired High Court judge) as a neutral third
party, to resolve their dispute. Mr. Nishikant played the role of an
interventionist by suggesting potential solutions to the parties in
order to resolve their disputes and claims.

14
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(b)

(c)

(a)

(b)
(c)

A matrimonial dispute arose between Mr. Sahil Kumar and
Mrs. Anushka Kumar. They both approached an institution for the
settlement of their dispute, even though their case was already
pending in the regular court. This institution does not follow strict
application of procedural laws and the decision of this institution
was binding on the parties to the dispute.

Mr. Sharma and Mr. Narayan are neighbours and residing in
‘United Heights’ Apartments. A dispute arose between them
regarding the right of way (type of easement that allows a person
to pass through another’s land). They mutually appointed Mr.
Iyyer (Society Secretary), as a neutral third party to resolve their
dispute. Mr. Iyyer focused on providing the parties with an
evaluation of their case and directed them towards settlement.

A H Ueh USdlehe o ®9 H ATHI{ohd B o [oT¢ I o HHCS o1 & 2

qRA T IS Ugdlhe, Tgdlche 3T Nehigd ohdl §F Tehdl g ?

WA | i fofeh TasiHeh Hifd o Jfdured 3 39 W T o #§ A9
TEwaqUl yftreRt 8 fAuT Tekar g ?

State the eligibility criteria for being enrolled as an advocate in
India.

How can an advocate in India become an Advocate on Records ?

How do lawyers in India play an important role in formulating and
advising on public policy ?

“TrTieRt W1 o T Somelt § favar W fow @ oTevEes g at At a
61 959 AT T g =TMeg |7
I HoH T foem s g Frefafad s % s 4

()

T IThT g0 9YRd § IRy 1 78 faftes ggrar & sfagma i s@n
TEA hITT, |

15 P.T.O.
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(@) fafee wgmdar ygH & & fore R fafies gomeft o sfgRaa sy
%! FHSTET |

(M  F3es fofoss Tgmar 61 FFgnem % g w@uNG g oAl @ 3g@
T |

“In order for citizens to have faith in their court system, all people must
have access to the courts when necessary.”

Considering the above statement, answer the following questions :

(a) Trace the history of legal aid in India as initiated by the
Government of India.

(b)  Explain the provisions stated in the Indian Legal System for
providing legal aid.

(c) State the two values communicated by the concept of free legal aid.

A fafer @ 8 2 39 @dl W YT ST | 6

What is International law ? Elucidate its sources.

16 3,700



